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__. Syntax

CTATUCTHYECKH COPTYEP
YnpasicHeHue 3: AHa./U3 HA 0AHHU cec SAS. Cmamucmuy4yecKu u3eodu.
3.1. U3no.a3BaHe Ha IF u ELSE IF ycioBue

data conditional;
length Gender $ |
Quiz $ 2;

input Age Gender Midterm Quiz
FinalExam;

if Age It 20 and not missing(age) then
AgeGroup = [;

else if Age ge 20 and Age It 40 then
AgeGroup = 2;

else if Age ge 40 and Age It 60 then
AgeGroup = 3;

else if Age ge 60 then AgeGroup = 4;

datalines;

IF expression THEN statement;
<ELSE statement;>

21 M 80B-82
.F90A 93
35M 87 B+ 85
48 F..76

59 F 95 A+ 97
I5M88.93
67 F97 A 91
.M 62 F67
35F77 C-77
49 M 59 C 8l

title "Listing of CONDITIONAL";
proc print data=conditional noobs;
run;

fl 21 80
F A . a0
fl B+ 35 a7
F 45 )
F At 59 95
fl 15 85
_________________________ F A, G7 a7
il F . 62
F C- 35 77
il c 49 49

Listing of CONDITIONAL
Gender Quiz  Age|Midterm | FinalExam AgeGroup
B

g2
93
g4
76
97
93
91
67
7
g1
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CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.1. U3nos13BaHe HA IF u ELSE IF ycisioBue

Jlornyeckm onepaTtopu:

Logical Comparison Mnemonic Symbol
Equal to EQ =

Mot equal to ME Az @r == or = *
Less than LT <

Less than or aqual to LE ==
Greater than GT =

Greater than or equal to GE ==

Equal to one in a list IM




CTATHCTHYECKH COPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.2. H3nosa3eaHe Ha cneyudguuHa ghopma Ha IF ycaosue

data females;

length Gender $ 1

Quiz $ 2;

input Age Gender Midterm Quiz FinalExam;
if Gender eq 'F';

datalines;

21 M 80 B- 82 o
_E90A93 Listing of FEMALES

3
3

3

3

3

3

3

3

> 35M87B+85 Gender |Quiz Age Midterm | FinalExam
» 48F..76 A, . S0 Y3
» S9F95A+97 45 . /b
» 15M88.93 A+ a4 85 =
3

3

3

3

3

3

b

3

67 F97 A91 A &7 97 a1
M 62 F 67 C | ¥» " i

3BBF77C-77
49 M 59 C 81

M ™M T ™M m

title ""Listing of FEMALES",
proc print data=Females noobs;
run;



» data females;

» length Gender $1
» Quiz$2;

3

Quiz ='B'
then QuizRange = 1;

v v Vv

then QuizRange = 2;

v

» datalines;

CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA OAHHU c6C SAS. Cmamucmuy4ecKu u3eodul.
3.3.U3noa3eaHe Ha IF u OR ycaoe8ue

input Age Gender Midterm Quiz FinalExam;
» 1fQuiz ="'A+"'or Quiz ="A' or Quiz ='B+'or

else if Quiz = 'B-' or Quiz ='C+"' or Quiz ='C'

else if not missing(Quiz) then QuizRange = 3;

Listing of FEMALES

Gender Quiz Age Midterm FinalExam QuizRange

Il B- 21
F A .
1 B+ 35
F 45
F At 55
1 13
F A, 57
I F .
F - 35
11 C 45

an
an
a7

95
ata]
97
62
7
=]

g2
g3
85
Fila]
a7
g3
51
B7
"
=)

[N TS 751 S U P P

21 M 80 B- 82
.F90A93
35M 87 B+ 85
48F .. 76

59 F 95 A+ 97
15 M 88 .93
67 F97A91
.M 62 F67
3BFT77C-77
49 M 59 C 81

title "'Listing of FEMALES",

proc print data=Females noobs;
run;
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CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.4. U3noa3eane Ha WHEN ycaoeuemo

data conditional;
length Gender $ 1 21 M 80 B-82
: _ .FO90 A 93
Quiz$2; | o 35 M 87 B+ 85
input Age Gender Midterm Quiz FinalExam; 48fF 76
select; 59 F 95 A+ 97
when (missing(Age)) AgeGroup = ; ég EAS??A?l
when (Age It 20) AgeGroup = 1; "M62E 67
when (Age It 40) AgeGroup = 2; 35F 77 C- 77
when (Age It 60) AgeGroup = 3; 49 M 39 C38l
hen (Age ge 60) Agegroup = 4; 3 .
W (_ J _ J ) Agegroup title "Listing of FEMALES";
otherwise; proc print data= conditional
end; noobs;
datalines; run,
SELECT <ot enpessin
WHEN-1 (when-expression-1 <__., when-expression-n=) statement
___________________________________________________________________________ <... WHEN-1 (when-expressian-1 <..., wher-expression-n>) statement,>
} <OTHERWISE statement;>

END:



CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.5 U3no.a3eaHe Ha OR onepamopa
» data believe it or not;
> input X;
» if X =3 or X = 4 then Match = "Yes';

» else Match = 'No';

» datalines;

» 3 Listing of BELIEVE_IT_OR_NOT
» 7 X Match
3| Yes
| 7/ No
Mo
>

» title "Listing of BELIEVE _IT_OR_NOT";
» proc print data=believe_it _or_not noobs;

> run;



CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.6 U3no.s136aHe Ha onepamopa: WHERE

gﬁ; Gender 4@,\ Quiz @ Age @ Midterm @ FinalExam @ AgelGroup

» data females; 1 ]» | 0 x |
2| F 48 . 7E 3

» set conditional; 3 e 59 % a7 3
4 |F A B7 97 9 4

» where Gender eq 'F}; 5 F C ® 7 7 2

)  run;

U3nonssaHe Ha onepartopa : WHERE

Operator Description Example

IS MISSING Matches a missing value where Subj is missing

IS NULL Equivalent to IS MISSING  wheare Subj is null

BETWEEN AMD  An inclusive range where age batween 20 and 40
CONTAINS Matches a substring where Name contains Mac
LIKE Matching with wildcards where Name like R_n%

=* Phonetic matching where Name =* Nick




CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.

» U3non3saHe Ha onepaTtopa : WHERE

Expression Matches

where Gender i1s null A missing character valua

where Age is null A missing numeric value

whera Age is missing A missing numenc value

where Age between 20 and 40  All values between 20 and 40, including 20
and 40

where Name contains mac macon immaculate

whera Name like A_n%: Ron Ronald Run Running

whera Name =* Nick Mick Mack Mikki




CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.7 CymupaHe Ha 0aHHU

» data revenue;

» retain Total 0;

» input Day : $3.

» Revenue : dollaré.;

» if not missing(Revenue) then Total = Total + Revenue;
» format Revenue Total dollar8.;

» datalines;
» Mon $1,000

4 Total /. Day 5 Revenue

» Tue $1,500 1 31,000 Mon $1,000

2 $2.500) Tue $1.500

> Wed. 3 $2 B00| wed .

» Thu $2,000 3 34,500 Thy $2,000

: 5 $7.500 Fii 43,000

» Fri$3000 -
4

>,



CTATHCTHYECKH COPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.7 CymupaHe Ha 0aHHU
data revenue;
input Day : $3.
Revenue : dollaré.;
Total + Revenue;

format Revenue Total dollar8.;

datalines;

Mon $1,000

Tue $1,500

Wed .

Thu $2,000 Ay Day [Z Revenue [ Total

Fri $3,000 1 JMan $1.000 $1.000
2 Tue $1.500 $2,500

; 3 'wed . $2.500
A Thy $2.000 44,500
5 | Fii 43,000 $7 500




CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.8 lIpebposieaHe Ha Aunceawjume daHHU

data test;

input X;

if missing(x) then MissCounter + |;

datalines;

2

7/

; @ X @ MizzCounter
1 2 0
2 1
3 7 1
4 ?




CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.9 U34uc/is6aHe Ha 1uxea

data compound;

dat d;
Interest = .0375; ata compoun

Interest = .0375;

Total = 100; Total = 100;
Year + I; doYear = | to 3;
Total + Interest*Total; Total + Interest*Total;
output; output;
Year + |; end;
format Total dollar10.2;
Total + Interest*Total; un-
output; (iterative DO loop)
Year + |;
" @) Interest =) Total &) Year
Total + Interest*Total; ] $103.75 ;
output; 2 0.0375 $107.64 2
3 0.0375 $111.63 3

formatTotal dollar10.2;
run;
title "Listing of COMPOUND";

proc print data=compound noobs;

Listing of COMPQUND

Interest Total Year
00375 $103.75 1
0.0375) $107.64 2
00375 $111.68 3



CTATUCTHYECKH CODPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.10 [lpy2u u3dyucs1eHus

» data table;
» don=11to 10;

Table of Squares and Square Roots

} Square - n*n; n Square| SquareRoot
1 1 1.00000
2 4 1.41421
» SquareRoot = sqrt(n); 58 7w
4 16 2.00000
. 5 25 2.23607
» output; 5 38 244949
7 49 2 B4575
. g B4 2.82843
> end’ g 81 3.00000
10 100 3.16228

> run,

» title "Table of Squares and Square Roots";
» proc print data=table noobs;

» run;



CTATHCTHYECKH COPTYEP
YnpasicHeHue 3: AHA1U3 HA 0AHHU c6C SAS. Cmamucmuy4eckKu u3eodu.
3.11. U3nos3eaHe Ha iterative DO loop npu epadhuku

» data equation;
» doX=-10to 10 by .0I;

» Y =X-8;
» output;
» end;
»  run;

» symbol value=none interpol=sm width=2;

» title "Plot of Y versus X"'; y
» proc gplot data=equation;

» plotY * X;

»  run;



